F63AERATRRAFTRETEREFH N

1.2 # [(Rr—hEii] SER204E1H26H () ~1H30H (k) 5HIM
(T A AR —wf] 201 H 28 (H)~2H1H (4) 5HH
[AF—Hitk] SERE204E2H 19H (k) ~2H22H (4) S5HIH
2.2 8 [ATr—bhTAAKRr—5if] REHRES -8R
(AL =N ] FIoew it T ) —F (L =—7)
[Va—ITy it EHRZHMAR—YTI)—F (B 7 k)
(4% aTwit] EERZHNAR—=YTU—F (EvZ/ vh)
[TA AR r—igidk]  WHREBAR T ) —F B HR A — e =T A AT —F
(A —mif]  FERERIERA
[/ Y AT v b ATr— A ] FRIBRAR— HoHN—a—2R
(a2 N =557 ] PFRIBRAS— FRI/aA N —a—2R
[V 7 5] FRIER AR — BRER Yy Y =
3. 2 M #F [(Ar—hgit] 204 (@14 KEkB54 EE4a4 #®F104)
(A% —i ] 274 (EM1%4 K E54 B34 #F184)
4. 5%
(N B #]
1iksa K4 T I 1] - FeE H A (e
(IA e CMSU—/LR % 1500m g | AT 2
AE=F | L e e 1500m R | efr | 3
B S CMSY— /LR Rk 3000m e | 7 )
AN H AR R E K . Ba22fr| A
— N GIN L. L. 9
Ty | AN = (ESN: REFRT s o
Ar—h Rt A 1E RIS E e A3 | D
e IR . 15
WA Bk | sk S E PEIT sl ar
Bt E A A IBAL] G E3H4R)
_— #6300 FPIE #61m #60m]
i ma e | Es | JER: | A | e | AA | B
Ahr—t xepr|l  41.0 1547 11.0 287 13.0 287 25.0  22ff
sl 24.0 0 1447 10.0  20f7 10.0  23f7 19.0 18fr
T AR — | T 10.0  11f7 10.0  13f7 10.0 1447 10.0 127
e K ELFR 10.0  24f7 10.0  24f7 10.0  23f7 10.0  26f7
BEFR 10.0 177 10.0  13f7 10.0  16f7 10.0 157
[(AFERESEACAN]  GBESHE)
sk #63[H #62[m H61E #60[H
”t ma | oiEsr | A NER | me | iER: | A BN
KEM (B d) 61.0 21{r 31.0 | 32f% 33.0 | 32ff 45.0  28{r
BIEM (L6 34.0  16fif 20.0 2501 20.0 26471 20.0  24frf




© HF63EAFEEK TR TOREN 2EMIEALL

(B 2 & (REM) AR ] [z A (BFW) i)
NEGE [BREFE ] & B | A7—b | T-dvr—]| A%— NEGE |#B B & B [ A= [ A%
1 |4t #F &| 511.0 [ 264.0 80.0 [ 167.0 1 |4t ¥F &| 189.0 | 134.0 55.0
2 |E g5l 452.5 | 240.5 35.0 | 177.0 2 | BF| 184.0 [ 137.0 47.0
3 |#n Bl 194.0 23.0 10.0 | 161.0 3 | Zl103.0 93.0 10.0
4 | =l 179.5 | 132.0 35.0 12.5 4 | Bl 99.0 23.0 76.0
5 |&F #Hl 170.0 57.0 75.0 38.0 5 | w755 63.0 12.5
6 | il 166.5 | 146.5 10.0 10.0 6 |l il  72.0 60.0 12.0
7|85 | 154.0 55.0 85.0 14.0 7 | | 71.0 61.0 10.0
8 |[# 4= JII| 150.0 81.0 55.0 14.0 8 |#E Bl 60.0 50.0 10.0
9 |#k M| 135.0 19.0 10.0 | 106.0 9 |% [ 59.0 49.0 10.0
10 |8 | 121.0 81.0 10.0 30.0 10 |%k M|  55.0 14.0 41.0
11 & Bl 120.5 90.5 10.0 20.0 10 |[# 4 JII|  55.0 41.0 14.0
12 |5 |l 102.0 82.0 10.0 10.0 12 |&= | 51.0 40.0 11.0
13 | K Bl 96.0 76.0 10.0 10.0 13 |#% | 43.0 31.0 12.0
14 | (il 94.0 72.0 10.0 12.0 13 |8 | 43.0 29.0 14.0
15 |& F| 93.0 24.0 10.0 59.0 15 | K B 42.0 32.0 10.0
16 |1 7| 88.0 34.5 10.0 43.5 16 |+ B 34.0 24.0 10.0
17 %= [ 86.0 61.0 15.0 10.0 17 (b Bl 29.5 0.0 29.5
18 |'= Wl 79.0 55.0 10.0 14.0 18 |’& F| 28.0 18.0 10.0
19 |5 il 74.0 15.0 10.0 49.0 18 |% Wl 28.0 18.0 10.0
20 |5 Bl 65.0 32.0 10.0 23.0 20 |® il 27.0 0.0 27.0
21 |F # 61.0 41.0 10.0 10.0 21 |&F &l 26.0 10.0 16.0
22 |45 Al 58.0 21.0 25.0 12.0 22 |f& Bl 25.0 10.0 15.0
23 |&F JIIf  55.0 10.0 35.0 10.0 23 |5 Bl 23.0 13.0 10.0
24 % | 48.0 18.0 20.0 10.0 23 |H o 23.0 13.0 10.0
24 Ik | 48.0 22.0 10.0 16.0 25 |t Al 22.0 10.0 12.0
26 | # 42.0 22.0 10.0 10.0 26 | JI[ - 20.0 10.0 10.0
27 |f& B 41.0 16.0 10.0 15.0 26 | ] 20.0 10.0 10.0
27 | Bl 41.0 10.0 10.0 21.0 26 |%% H 20.0 10.0 10.0
29 |5 B 39.0 10.0 10.0 19.0 26 |5 B  20.0 10.0 10.0
30 [= H[  36.0 16.0 10.0 10.0 26 |5 | 20.0 10.0 10.0
31 & 2l 33.0 0.0 10.0 23.0 26 |Jis Bl 20.0 10.0 10.0
31 |HE Al 33.0 13.0 10.0 10.0 26 |&F JIIl - 20.0 10.0 10.0
33 |A JIIl - 32.0 10.0 10.0 12.0 26 |Ag Al 20.0 10.0 10.0
34 |48 H|  30.0 10.0 10.0 10.0 26 |FE 2B 20.0 10.0 10.0
34 |% | 30.0 10.0 10.0 10.0 35 |f& Bl 18.0 0.0 18.0
34 |5 R 30.0 10.0 10.0 10.0 36 |f& H|  10.0 0.0 10.0
34 |1h H| 30.0 10.0 10.0 10.0 36 [= Hl  10.0 0.0 10.0
34 |5 o 30.0 10.0 10.0 10.0 36 |4 B| 10.0 0.0 10.0
34 |E & 30.0 10.0 10.0 10.0 36 [F1 &K ] 10.0 0.0 10.0
34 |k 2y 30.0 10.0 10.0 10.0 36 |1l 5 10.0 0.0 10.0
34 = @l 30.0 10.0 10.0 10.0 36 |{ Bl 10.0 0.0 10.0
34 | R Bl 30.0 10.0 10.0 10.0 36 |%= Bl 10.0 0.0 10.0
43 |4 B|  20.0 0.0 10.0 10.0 36 | [ 10.0 0.0 10.0
43 |48 Bl 20.0 10.0 0.0 10.0 36 & & 10.0 0.0 10.0
43 |& Zl 20.0 0.0 10.0 10.0 36 [k 4y 10.0 0.0 10.0
43 | HE 20.0 0.0 10.0 10.0 36 |= il 10.0 0.0 10.0
47 |0 ER 4l 10.0 0.0 0.0 10.0 47 | i} 0.0 0.0 0.0
a3 4058.0 | 1950.0 [ 810.0 [ 1298.0 4t 1775.0 | 1063.0 | 712.0




FOIEEREBFRELATRKE TEREFH RE—F
B4 T 1] i H BeE K 4 i & ks MR | AR
R |KA Bk |JFEATF—L
500m KA K PFrERL 42710 gt VBIE
MmHE 5% JEFAF— L 42744 TIrGER
1000m KA K e 1’25707 gt VBIE
M 7R JEFAF —)L 1’28722 TIAGER
,(\ N==N - 1/ S b » AN
o 1500m mf fﬁa,a c1\isv JUR 1,53”18 \7@\ 2
FAFE S T . el N H & 2°10”52 TR
pEi=a
Z 5000m A fg  |CMSYV—/LKR 6’58713 L1{3L
=9 A AR Ek= 716”57 TRHGR
L\ KA K e
mBﬂ 4’}:‘2’: JEFX%H/I/ b » ~
2000R 2’41701 FRHGE
A % |[CMSU—LR EE
A TER ERES
BLES [hnee 25— T TA IR~ —
1000m W 2R |EAKRE 1730700 TRHGE
%A1 1 . WOt BB+ [AAKRE 2’20714 TiRHGR
1500m | B =M |[CMST—LR 2’09707 61ir 3
£ 7N — A
3000m B K |[CMSU—/LR 4°07799 A 2
= NI S
P | = |Ramrmaaee | SPRORESEE)
¢ =T N S I
x - - BATHT
o B ey TR _ _
7 pERT | A ERmE SPASE
EF . SPiefrsism| M| 19
1:@:7& {Qj( lﬂ%lﬁ.*.b):ﬁlﬁl’ﬁi ;,\@\/EI\ISEZ
AR e T M RG]
FefAH: BEFe [NTT—ME T2
AR A (g R [ R DS
T AL KLy = 5 ’» 1.
EH BE [(AAR—YT—I 112759 TINE
BEE e (R —RH—X 1’12718 23ff
RAFEH7-C KH FBEHES |=%=F44—71—/LF|1°15”80 A8
X AT b AT [ v (BR) 1’12791 30fr.
AL FA | ATHTA _— WNH R |EEEERE 1’13743 43(7.
2 AL 7B WA diA 7 |[UBSERTT 1’13725 281
- KEE fET 1’14772 3647
‘ B0 A | TR AR Er |1 04781 69T
DB - TR 2 il &R DF
ek O R SRR R 1’06793 10741
. LR AnA |BETERFEMEER 1709789 3647
DAL
EA BT [T e [DF
AFE R R (=B BRS | B OARHLEE (BR)
KA 1B INAJE BB | Fv ot vrzy R —R 23726704 1942
razi R —| W 22 As =R 3727 A
VT TES T @ﬁEL 32 ﬁ?ﬁjﬁiﬁﬁﬁﬁéfbi 37’27”03 95{%
Aa A IR B E &SR (3707707 91/}
DAL T DR [HIEREALEER 23746701 700%




